
Agriculture

The Drought is one of the major impediments in achieving the desired agricultural
productivity and the schemes devised by the government are inadequate. Explain
with an example and suggest sustainable solutions. (200 words)
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Refer- The Indian Express
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Enrich the answer from other sources, if the question demands.
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https://www.shankariasparliament.com/
https://indianexpress.com/article/opinion/columns/devendra-fadnavis-maharashtra-drought-drip-irrigation-farmers-5441625/
https://www.shankariasparliament.com/

